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= = S AV 7 S AV | = = S AV = S AV B2l =
1 100kN/mM#Z#BZ % -l -~ = -|3mEBRB| - ~ = = -| 100kN/mM%E# %% = -~ = -|3mEBZD -~ = = =
Zhn st 1.001 0.00 ~ 432 53.97| #h il | 000 ~ 432| 2.06 10.43 Zhn st 1.00] 500 ~ 5.40 53.97| #hst | 500 ~ 540| 2.06 10.43
5 100kN/mM#Z#BZ % -l -~ = -|3mEBRB| - ~ = = -| 100kN/mM%E# %% = -~ = -|3mEEZD -~ = = =
Zhn st 1.001 0.00 ~ 5.69 7111 Zh st 1000 ~ 569 2.16 10.89 Zhn st 1.00 5.00 ~ 8.60 7111 #hiist | 500 ~ 8.60| 2.16 10.89
3 100kN/mM#Z#BZ % -l -~ = -|3mEBZB| - ~ = = -| 100kN/mM%E# %% = -~ = -|3mEBZD -~ = = =
Zhn st 1.00{0.00 ~ 7.78 99.98| #h st [ 000 ~ 7.78 2.57 13.00 Zhn st 1.00] 500 ~ 13.14 99.98| #huist | 500 ~ 13.14 257 13.00
4 100kN/mM#Z#BZ % -l -~ = -|3mEBRB| - ~ = = -| 100kN/mM%E# %% = -~ = -|3mEBZD -~ = = =
Zhn st 1.00{0.00 ~ 7.57 96.85| #h st | 000 ~ 757 2.62 13.24 Zhn st 1.00f 500 ~ 13.11 96.85| #h st | 5.00 ~ 13.11| 2.62 13.24
s 100kN/mM%#B % % 1.00{ 000 ~ 1.24 118.71|3m%E#BZB| - ~ = = -| 100kN/m%#B %% 1.00| 12.77 ~ 1753 118.71|3m%i#BZ 2 -~ = = =
Zhn st 1.0011.24 ~ 9.02 100.00| #h1 st 1000 ~ 9.02| 2.76 13.97 Zhn st 1.00] 5.00 ~ 1277 100.00|] #h st | 5.00 ~ 17.53] 2.76 13.97
6 100kN/mM#Z#BZ % -l -~ = -|3mEBZB| - ~ = = -| 100kN/mM%E# %% = -~ = -|3mEBZD -~ = = =
Zhn s 1.00/0.00 ~ 6.95 88.13| #h 4t | 000 ~ 6.95| 1.82 9.19 Zhn st 1.00] 500 ~ 8.69 88.13| #h st | 500 ~ 869 1.82 9.19
; 100kN/mM#Z#BZ % -l -~ = -|3ImEBZD| - ~ = = -| 100kN/mM%E# %% = -~ = -|3mEEZD -~ = = =
Zhnst 1.001 0.00 ~ 5.41 67.55| #h st [ 000 ~ 0.00( 1.73 8.73 Zhn st 1.00] 500 ~ 5.90 67.55| #hist | 500 ~ 590| 1.73 8.73
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#Z#BZ % ~ ImEHEAD ~
Zhn st ~ Zh s ~ Zhn st ~ Zh st ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#Z#BZ % ~ ImEHEAD ~
Zhn st ~ Zh s ~ Zhn st ~ Zh s ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#Z#BZ % ~ ImEHEAD ~
Zhn st ~ Zh s ~ Zhn st ~ Zh s ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#Z#BZ % ~ ImEHEAD ~
Zhn st ~ Zh s ~ Zn st ~ Zh s ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#Z#BZ % ~ ImEHEAD ~
Zhnist ~ Zh s ~ Zhn st ~ Zh s ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#Z#BZ % ~ ImEHEAD ~
Zhn st ~ Zh s ~ Zhn st ~ Zh s ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#E#BZ % ~ ImEHEZD ~
Zhnst ~ Zh s ~ Zhn st ~ Zh s ~
100kN/mM#Z#BZ % ~ ImEHEZD ~ 100kN/mM#Z#BZ % ~ ImEHEAD ~
st ~ Zh st ~ Zh st ~ Zh st ~
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